) Circle each row of sweets.

How many rows are there?

There are roOws.

__J Circle each column of apples.

O O 0O O
© 0O O 9
O © O O

How many columns are there?

There are columns.




3 Make this array.

Complete the sentences.

a) There are counters in each row.
There are rows.
There are counters altogether.
b) There are counters in each column
There are columns.
There are counters altogether.

Make your own array.
How many rows are there? \7/

How many columns are there?

| Ruse |}
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vy
St
Q

O
S
=
c
Q

L
d
0
See
O
e
O

M

O 10O QO

QO 100 OO OO

OO OO 10O OO OO

QO 100 100 QO] 10O

OO OO OO KO OO




) How many flowers are there?

There are

3 Circle 14 socks.

Q.
U

flowers.

Sh

74N




\j Fill in the missing numbers.

a)

b)

18 16 12 8

C

+2 +2 +2 +2 +2 +2 +2
! i i | i

[Em—
o

10 12 14

) How far can you count up in 2s?

Work with a partner.
Can you count up to 50 together?

Now try counting down in 2s from 50

{ Rose }

\utaths,






What are the numbers?

There are

__J How many spots are there in total?

spots in total.




3 Colour 35 petals. &

R P g B R By
@88@88@88 3

J Fill in the missing numbers.

a)
0 5 10
b)
50 | 45 | 40
c) +5 +5 +5 +5 +5 +5
e N N e N NN
4 4 4
l | | I | |
l I | I | |
20 25 30

wf Mo counts up to 50 in 5s.
Eva counts up to 50 in 2s.

What numbers do they both say?

T
7 ~,

Can you spot a pattern? N

I R

ose |



| Rose

ey
(80

__J How many muffins are there altogether?

There are muffins on each tray.

There are trays.

There are muffins altogether.




__J) How many apples are there altogether?

O 0000 OO
OO000] OOOOO

There are apples on each ten frame.
There are ten frames.
There are apples altogether.
__J How many counters are there altogether? 6’69

There are counters altogether.




4 Complete the number tracks.

10 20

70 50

J Tom has these balloons.

He needs 60 balloons for a party.

Does Tom have enough balloons?

How do you know?

{ Rose |
it/
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AT ITTTTY

12 14

—
~

Here is a number.

a) What is the number?

b) Use counters and ten frames.

Make this number in a different way.

Draw your counters.




) Write the numerals in words.

a) 12

b) 13

c) 15

d) 18

e) 20

\__/) Compilete the number tracks.

10 | 11 | 12

12 | 13

18 | 17

{ Ruse |



| How many apples are there?

There are

There are

OGO G

GGG GG

GG|GO O

tens and

apples.

ones.

Rose
Maths



o) What number is shown?

o
)
-
o
©
c
O
CLIIITITTTT]) 0
LT o
ot
LI L]
COI T
v
O
o
Q
L
T.

The number shown is

b) 3 tens and 2 ones

a) 23



__J) Complete the number sentences.

a) 1 ten and 8 ones =

b) = 2 tens and 5 ones
c) 41 = tens and one
d) 37 ones = tens and ones

e) 2 tens and 10 ones =

__J Eva and Jjack are making the same number.

Eva’s number has these tens.

Jack’s number has nine ones.

a1y

EENERERANER

What number are Eva and Jack making?

i)

Rose

]






__J @) How many sweets are there?

There are sweets.

¢) Which were easier to count? Why?

Rose
Moaths



J a) Draw counters to show how many pencils

there are.

VTV

|

b) Complete the sentence.

There are pencils.

¢) How do you know you have counted
them all?

-~ I am going to count
from 21 to 36

Will Rosie say the number 29?

How do you know?

| Rose )

\tiaths,



J How many apples are there?

There are

There are

CIEIEIE

tens and

apples.

ones.

Rose
Maths



) What number is shown

(I IIrIT11Y

There are tens and ones.

The number shown is

a) 2

!‘\!"NIA' R ™ K
= I LAYY [VAV IS 1w i (ARG | IVVV \-\J\-Il llul IACH e

3

L\funn AN &~ f-lr‘\ nnnnnnn L\ L\ o~
¥

b) 3 tens and 2 ones

@%?



J Complete the number sentences.

a) 1 ten and 8 ones =

b) = 2 tens and 5 ones
¢ 41 = tens and one
d) 37 ones = tens and ones

e) 2 tens and 10 ones =

4 Eva and Jack are making the same number.

Eva’s number has these tens.

LTI ITTD

LTI TTITTd

Jack’s number has nine ones.

What number are Eva and Jack making?

| Rose |
ot/






/e

) Tick the number sentences that are true.

Use cubes or counters to help you.

a) 12 is more than 13

b) 33 is less than 41

€) 2 tens and 8 ones is equal to twenty-eight
d) 40 + 8 is more than 30 + 9

e) Thirty-one is less than 3 tens

__) Write the missing phrase.

[ greater than M less than j[ equal to ]

a) 22 is 29
b) 41 is 4 tens
¢) Forty-six is 40 + 3

d) 40 + 8 is one more than 47

Rase
Maths




3 Write <, > or = in each circle.

O 3 tens and 14 ones

24
N

T TITTITY
(Tl ITTIITy

LIETTTTRTI

s Complete the table.

Write or draw your answers.

is more than

!‘V

is less than

is equal to

| Rose )
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